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RA-Exam.—Feb.—14-21

Con. 26-14.

(3 Hours)

N.B. : (1) All questions are compulsory.
(2) Tie both the sections together. -

(3) Figures to the right indicate full marks.

Section I

1. Explain the following terms (any five) : —

(a) Advertising (H
(b) Publicity (g)
(c¢) Client Turnover (h)
(d) Salesmanship (1)
(e) TRP ()

2. Answer the following (any three) : —

AAAI

Modelling

Clutter

Media Mix

Political Advertising

(a) Explain the active participants in advertising.

(b) Discuss the role of advertising in modern world.

(¢) What are the functions of advertising agencies ?

(d) How does advertising raise standard of living ? »
(e) Explain the career options available in advertising field.
(f) Bring out the need for media research.

3. Write short notes on (any two) : —

(a) Ethics in Advertising (¢) Transit Advertising

(b) Internet Advertising (d) Zipping and Zapping.
Section Ii
4. Explain the following terms (any five) : —
(a) Logo (f) Caption
(b) Copy - (g) Testimonial
(c) Slogan (h) Headline
(d) Layout (i) Market Segmentation
(e¢) Demonstration (j) Brand Name

5. Answer the following (any three) : —

(a) What are the essentials of good copy ?

(b) Describe the different types of customers.

(c) What factors affect advertising budget ?

(d) Bring out the importance of research in advertising.
(e) Explain pre-testing methods of testing advertising effectiveness.
(f) Explain the objectives of advertising campaign.

6. Write short notes on (any two) : —

(a) FantacyinAdvertising  (c) Transit Advertising
(b) Window Display (d) Mobile Advertising.
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i RT-Exam.~Feb~14-13 -
Con. 19-14. (OLD COURSE) ST-6078
(3 Hours) [Total Marks : 100

N.B. : (1) All questions are compulsory.
(2) Write answer of both sections in the same answer book.
(3) Figures to the right indicate full marks.

Section I

Describe briefly the political and economic rights of Indians.
OR '

: Eiplain the features of Human Rights.

Discuss the right to Constitutional Remedies. -
OR
Write a note on Science and Religion.

Briéﬂy discuss the importance of Universal Declaration of Human Rights of 1948

(UDHR).
-~ OR

* Discuss the functions of National Commission for Women.

L (a
() .
2. (a)
(b)
3. (@
®
4. (a
(®)
5. (a)
(®)

Discuss the purpose of Chipko Movement.
OR

* Explain the importance of Narmada Bachao Andoland.

Explain the importance of ‘The Child Labour (Prohibition and Regulation) Act,

1948'. 4

' ~ OR o

Discuss ‘The Minimum Wages Act, 1948°.

Explain the contributions of Issac Newton.
: OR ’

Describes the contributions of Einstein.

Briefly explain the contributions of Dr. Homi Bhabha. -

OR
Discuss the contributions of C. V. Raman.
Discuss ‘the meaning and scope of Ecology.
OR :
Discuss how Environmental Degradation affecting life on the Earth.

Section IT |

Explain Air and Water related health problems.
OR :

' Discuss the symptoms and remedies to Typhoid and Cholera.

What is biotechnology ? Bring out its hazards.
OR .
Explain strength and weaknesses of Sonography.
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Con. 19-ST-6078-14. 2

6. (2)

(b)

7. ' (a)

-()

8. (a)

(®)

G : () ud ux fverf aga.

Explain the impact of Dams.
-OR
Discuss the meaning of Environmental Ethics.
What are the advantages and disadvantages of Informa‘uon Technology ?
_ -~ OR
Explain the apphcatlon of Nano Technology

What is Waste Management ? Explain its types.

OR 4
Briefly explain the importance of Nuclear Power. Projects.
What is Cyber Crime ? What are its types ?
' "OR
Explain the meaning of cloning.

Briefly explain ‘Ge_netically Modified Foods’.
_ OR
Explain the applications LASER Technology
What is the need of ‘Carbon Bank’ m Indian Big Cities ?
OR
Explain evil effects of excessive use of insecticides and pesticides.
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RT-Exam.~Feb.~14-11

‘Con. 19-14. 4 ST-6078
(REVISED COURSE) | o
(3 Hours) ' [Total Marks : 100

" N.B. : (1) Attempt any three questions from question 1 to 5 from Section I.
(2) Attempt any three questions from question 7 to 11 from Section 1I.
(3) Question 6 in Section I'is compulsory.

(4) Question 12 in Section II is compulsory.

(5) Figures to the right indicate full marks. .

(6) Both sections should be written in the same answerbook.

~ Section I

1. Discuss the constitutional and legal rights of Scheduled Caste and Scheduled Tribes. 12

2. Explain the concept of Disaster, its 'types and effects. B -12
3. Write in detail the meaning and features of Science. .12
4. Elaborate the barriers‘ of e_fféctive communication. ' 12
5. What is Right to Health ? Explain ité determinants. : | 12 |
6. Write short notes on the following (any two) :— - _ ' | 14

(a) Role of Technology
(b) Effects of Water Pollution
(c) Features of Listening

(d) Right to Education.

Section II
7. Explain the objectives of Consumer Rights. .' 12 -
* 8. Discuss the meaning of Right to Information (RTI) and its features. 12

9. What is Public Interest Litigation (PIL) ? Explain the importance of PIL in India. | 12

10. Explain in detail the application of LASER technology. 12
11. Discuss the causes of Urbanization. | ‘ o 12 .
© 12. Write short notes on the following (ahy two) — : 14

(a) Nano Technology

(b) Application of Space Technology
- (¢) Maslow’s Theory of Motivation

(d) Rural-Urban Problems.
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Con. 39-14. , . ST-6748
(3 Hours) [Total Marks : 100

N.B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Answers of both the sections should be written in the same answer sheet.

Section 1

1. Explain the following terms in short (any five) :— 10
(a) Societal concept of business
(b) Industry
(c) Mission
(d) Privatisation
(e) WTO
() SAARC
(g) Merger
(h) Joint venture.

2. Answer any three of the following questions :— : 30
: (a) What is business ? Explain its functions.

(b) - Explain the various components of internal business environment.

(©) llstmgulsh between Economic and Social objectives of business.

(d) Discuss the challenges before the Indian entrepreneur.

(¢) What are the steps in setting up of a business firm ?

(f) . What is diversification of business ? Explain its types.

v

i

3. Write short notes on (any two) :— . 10
(a) Project Report
(b) SWOT Analysis
(c) Three fold objectives of business.
(d) Feasibility Study.

Section I1

4. Explain the following terms in short (any five) :— : 10
(a) ATM
(b) Ombudsman
(c) Merchant Banking
(d) E-communication
(e) B.PO.
(f) Tourism
(g) Ethics in retailing
(h) FD.L

[TURN OVER




DM\G-Feb.—14-8

Con. 39-ST-6748-14. 2 ’ .

5. Answer any three from the following questions - 30
(a) Explain the role of banking institutions. '
(b) Explain various principles of insurance.
(c) What are measures undertaken to promote Tourism and Hospitality industry in
India ?
(d) Enlist different forms of transport and explain them in brief.
(e) Discuss the recent trends in retailing sector in India.
(f) What is E-banking ? Explain its advantages.

6. Write short notes on (any two) :— 10
(a) Types of insurance '
(b) K.PO. -
(c) Career options in retailing
(d) Development Banking.
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Con. 35-14. o ST-6553
(3 Hours) ; [(Total Marks : 100

- Section I
1. Define any five concepts :— IR 10
(a) Policy
(b) Quality
(¢) Order
(d) Span of control
(e) Productivity
(f) Organizing
(g) Matrix organisation
(h) ABC analysis.

2. Answer any three of the following :— : ‘ = 30
(a) Discuss the importance of management. '
(b) Explain the essentials of good plan.
(c) Explain the techniques of quality control.
(d) What is inventory ? Explain various inventory cost.
(e) Describe the bases of departmentation.
~(f) - Explain ISO-9001 procedure in brief.

3. Write short notes on (any two) :— 10
(a) Levels of management
(b) Deligation of authority
(c) Flexible manufacturing system
(d) Steps in production planning.

Section I

4. Explain the following terms (any five) :— : _ 10

(a) Credit rating - :
(b) Leasing
(c) Shares

- (d) Stock exchange
(e) Broker
(f) Money market
(g) Commercial paper
(h) Risk and Return.

[TURN OVER
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Con. 35-ST-6553-14. 2

5. Answer any three from the following :- 30
(a) Discuss various functions of SEBI.
(b) Explain the role of stock exchange.
(c) Explain various objectives of corporate finance.
(d) Explain the concept of “Trading on Equity”.
(e) Explain the meaning and advantage of FDI
(f) Explain the sources of fixed capital.

6. Case Study :—-

Mr. Pradip is dynamic person. He wants to set up his own business and is lookmg
forward to start fairy boat service from CBD Belapur to Gate way of India. He is looking
forward for venture capital.

Questions —

(a) Do you think Mr. Pradip's business is viable ? 5
(b) What advantages Mr. Pradip will enjoy after availing venture capital ? 5
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RT-Exam.—Con No.~Jan.~14-33 P Q {D CN (‘&L‘)“
Con. 31-14. (REVISED COURSE) ST_6148

(3 Hours) {Yotal Marks : 100

Note:
1) Attempt all questions from the following.
2) Figures to the right indicate full marks assigned to the questions.
3) Working note should form part of answer wherever it necessary.

Section-I

Q-1: Dinesh, Amar & Manoj were partners sharing profits & losses in the ratio of 3:2:1
respectively. You are required to prepare Trading and profit & loss account for the year
ended 31" March, 2014and Balance Sheet as on that date after making the necessary
adjustments. Following is the Trial Balance extracted from the books as on 31 March,

2014. . (18)
Debit Balances 3 Credit Balances Z
Buildings 9,00,000 | Capital : Dinesh 3,20,000
Machinery 6,00,000 Amar 2,70,000
| Furniture 45,000 Manoj 2,10,000
Debtors . 1,62,000 | Reserve for Bad Debts 9,000
Sundry Expenses 42,000 | Loan from Amar 1,50,000
Rent | 1,44,000 | Creditors 2,16,250
Salaries : 2,93,000 | Gross Profit 14,25,000
Advertisements 62,500 | Bills Payable 26,350
Carriage outwards : 22,500 | Interest on investments - 12,000
Insurance 9,000 | Other Income 14,400
Salesmen commission 1,50,000 | Bank Loan(31/03/2014) 3,00,000
Stock 1,25,500
12%Investments(01/04/2013) 2,00,000
Cash & Bank } : 25,750
Bills Receivable 61,750
Drawings: Dinesh 32,500
Amar 43,500
Manoj : 28,000
Bad debts 6,000
Total 29,53,000 | Total ) 29,53,000

On 31% December, 2013; Dinesh was retired. Following adjustments were agreed upon:

1. Goodwill of the firm was valued at ¥ 2,40,000.
2. Balance of Dinesh Capital Account after all adjustments was to be transferred to hlS Loan

Account carrying interest @18% p.a.
3. Depreciate fixed assets @ 12% p.a.

[TURN OVER
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Con. 31-ST-6148-14. 2

Write off further bad debts T 12,000.

Provide interest on capital @ 9% p.a. & on loan @ 6%.

During the year Gross Profit Ratio is remain constant.

Sales up to December, 2013 were % 25,00,000 and thereafter was T 6,25,000.

Nans

Q-2:

A. State whether the following statements true or false. (08)

1) Current account of partners is always shows credit balance.

2) Partnership Act provides for mandatory interest on capital.

3) The liability of the partner is limited to amount of capital contributed by him.
4) No interest on partner’s loan can be allowed in the absence of an agreement.
5) Bill under discount is a current liability.

6) Outstanding Wages are the preferential liability.

7) Excess Capital Method is also known as Quotient Method.

8) Expenses on dissolution are credited to Realisation Account

B. Fillin the blanks with most appropriate word and rewrite the full sentence. (08)
1) A credit balance on Revaluation Account represents .
2) Revaluation Account is when an Unrecorded Asset is brought into accounts.
3) The Deceased Partners Capital Account balance is to be transferred to '
4) Government dues are , __liability. .
5) Royalty on production is debited to Account.
6) __is a policy taken on the lives of partners.
7) Ratio of gain is the proportion in which the continuing partners gain due to

- 8) A partner whose liabilities are more than his assets is called as

Q-3: Soham and Rohan are in partnership sharing profits losses in the ratio of 3:1. They
/admitted Paresh as a partner into partnership giving 1/5" share in future profits as on },S°

April, 2014. Following is the Balance Sheet of the old firm as on 31" March, 2014. = (16)
Balance Sheet as on 31/03/2014. |

Liabilities £4 ' Assets 3

Capitals: Soham 2,25,000 | Land & Building - 4,14,375

Rohan : 1,12,500 | Plant & Machinery 2,25,000

General Reserve 52,500 | Furniture 36,000

Profit & Loss A/C 22,500 | Stock 1,62,000
Sundry Creditors 1,77,375 | Debtors 1,80,000 ' '

Bills Payable 70,125 | Less R.D.D 13,500 1,66,500

Bank Loan 4,50,000 | Bills Receivable - - 58,500

Cash & Bank 47,625

Total 11,10,000 | Total 11,10,000
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- On the; admission the followihg' term are to be taken into consideration:

a) Paresh should bring X 1,68,750 as his Capital & ¥ 56,250 as his share of goodwill,

b). It was found that Land & Bu11dmg was undervalued by15%, Furniture was undervalied by
20%, stock was undervalued by 10% and Plant &Machinery was overvalued by 10%:

‘c) Reserve for doubtful debts:is to be mamtamed at 5% on debtors

d) Creditors are allowed discount of ¥ 5,625

&) A prowsmn for legal expenses is to be made for ¥ 6 750

You arc required to preparc Revaluatlon Account Partneis Capital Account and Balance Sheet
ter admxssmn '

OR

Q 3; ' Arun, Varun and Mithun were in partnershxp sharing proﬁts and 1osses in the ratio of 2 2:1
" respectively. The partnership was dissolved on 1% April, 2013: Their Balance Sheet as on

31% March, 2013 was as befow: . 3 : : - (16)

- Liabilities . X i Assets %
Sundry.Creditors - =~ '1,06,250 | Cash . 9,520
General Reserve o ' 21,250 | Sundry Debtors: . 87,125
Capxtals Arun ' 82,450 | Stock o . 57,035 |

Varun n - 93,500 | Machinery. : 1,79,520
Mithun 55,250 | Fuiniture - N 25,500
Total : 3,58,700 | Total 3,58,700

- Sundry credxtors have to be paid ¥ 98, 600 in fall settlement. A sum of %9, 520 have to be
provxded for expenses of realization, The assets are realized as under:

| Date of Realisation ' .| Asset Realised . ’ ' T
12/04/2013 - K Sundry Debtors . 62,050
28/04/2013 . Stock - T 45,050
12/05/2013 L - | Machinery . 1,40,930 |-
25/05/2013 .| Furniture ' 21,250

B The actuél expeﬁses of realization amounted to 38, 500 up to last realization. Prepare a statement
shong the dlstnbutlon of cash under Excess Capxtal Mcthod

Sectlon II

Q.4 Ajay and. ijay are partners who share profits and losses in the ratio of 2 3 ina business. In
-- - the similar type of business Kailash and Manish are partners who share profits and losses
equally. Tt is agreed that both the firm have to be amalgamate into one firm on 1% April,

2014. On 31°* Maich, 2014 the financial position of both the firms is as under. - (18}

ITURN OVER
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Con. 31-ST-6148-14. . 4 |
' - Balance Sheets as on 31/03/2014

Liabilites | A&V | K&M | Assets | A&V K&M
e ] 0 | ' Q) o

Capital : Ajay | 1,04000 | -~  |Goodwil - - 31,200 | . 20,800
Vijay | 91,000 - | Machinery 11,40,400 [ 1,09,200

Kailash | —-| 72,800 | Furniture | 28,080 21,840

~ Manish " -—1| 65,000 | Motor car 1,87,200 | 1,24,800
General Reserve 26,000 | 20,800 | Stock o 88,6601 76,700
| Creditors 1,02,700 | 74,100 | Debtors. . 1,01,920 83,460
Bills Payable - 50,700 35,100 | Bills receivable - 30,940 28,080
Loan from SBI 2,47,000 | 2,08,000 | Cash & Bank 113,000 10,920
Total - 6,21,400 | 4,75,800 | Total 6,21,400 | 4,75,800

The firms are amalgamated on the following terms:

a) Creditors of both the firms are to be taken at a discount at 10%.
b) Machinery is subject to 5% depreciation of both the firms.

~ ¢) . Motor car i to be appreciated by 10% of both the firms. _ ‘,
d) Furniture of both the firms is not taken over by the new ﬁrm , .
e) Stock is to be apprecrated by 20% of both the firms. - o L
f) Goodwill of A& Vistobe valued at ¥ 62,400 whereas of K & M is of 339,000. ,
g) Capital of the new firm is fixed at ¥ 9, 36,000 to be adjusted’ accordmg to. their new

. profit sharing ratio, any adjustment to be made in cash.

h) The new profit sharing ratio is: Ajay 3/10, Vijay 2/5, Kailash 3/10 and Mamsh 2/5.

You are requrred to close the books of both the firms and’ draw the Balance Sheet after ,
amalgamation. : :

Q.5: ' o o :
A. State whether the followmg statements true or false. (08)
1) In case of-amalgamation of firms goodwill of old firms to be ignored.
2) In amalgamation the firm which takes assets and liabilities is known as vendor firm.
3) A branch is said to be independent when its accounting is done at the head office.
4) Closing balance of Goods Sent to Branch Account is to be transferred to Proﬁt and Loss
~ Account.
5) . Under Stock and Debtors method loss «of goods by fire at Branch are credlted to Branch
Profit and Loss Account.
6) Consignee cannot return the unsold goods to the consignor.
7) Godown rent is to be considered for valuatlon of closing stock of goods on consxgnment
8) Average clause is applied on fire i insurance claims even if the goods are fully msured

@
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B. Fill in the blanks with most appropriate word and rewrite the full sentence.
1) On Amalgamation, fictitious assets of old firm are transferred to
2) Under Debtors Method, expenses of Branch paid by Head Office are debited to
3) Under Stock and Debtors Method, credit sales are credited to .
4) Proforma Invoice is prepared by the
5) The person dispatching the goods on consxvnment is known as

6)

7) Each installment amount is made up of part payment towards

8) means goods saved from loss by fire.

(08)

is the purchase prlce payable even full payment is made at the time of purchase.

plus interest.

Q.6: Mukta Traders purchased five machines from Hindusthan Manufactures Lid. on
installment system on 1% January, 2011. The cash price of each machine was ¥ 10, 50,000. An

initial payment of X 1, 50,000 each was made on the date of purchase. The balance was paid in
installments of ? 2, 25,000 each plus interest @10% p.a. on outstanding principal. Instaliments
were paid on 31% Murch every year commeiicing from 31 March, 201 1. Mukta Traders charged

depreciation @ 12% p.a. on Written Down Value.

Mukta Traders closes their books on 31% March every year. You are requested to draw Machines .
Account, Hindusthan Manufactures Ltd. in the books of Mukta Traders for the year 2010-11, :

2011-12, 2012-13 and 2013-14.

Q.6: The business premises of Patel Timber Mart Ltd. destroyed by fire on 15.7.2013. However, the
Books of Accounts and Stock amounting to ¥ 18,000 were salvaged and the following

OR

information was available from the books:

Year Ended Gross Profit () Sales )
31/03/2009 2,04,250 8,17,000
31/03/2010 2,02,350 6,74,500
31/03/2011 1,90,000 7,60,000
31/03/2012 1,77,650 7,10,600
31/03/2013 1,52,000 7,60,000

Additional information:
a)  Stock on 31/03/2013 T 92,250,

b) Purchases from 01/04/2013 to 14/07/2013 ¥ 89,250%.

¢) Sales from 01/04/2013 to 14/07/2013 % 1,60,000.
d) Wages from 01/04/2013 to 14/07/2013 ¥ 28,500.
e) The amount of policy was I 80,000 subject to average clause.
You are required to prepare a statement of claim against the Insurance Company with any

comments if necessary.

(16)
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N.B. : (1) Attempt any five questions.
(2) All questions carry equal marks.

10.

. (a)

. (a)

(3 Hours) [Total Marks : 100

What do you mean by a company secretary ? Explain the qualifications of a company 10

secretary. '
(b) Distinguish between Private Company and Public Company. 10
(a) What is a company ? What are the distinctive characteristics of a company ? 10
(b) What is 'Memorandum of Associations' of a company ? What are its contents ? 10

What is calls on shares ? Explain the procedure for making a calls. v 10
(b) What is transfer of shares ? Describe the procedure of transfer of shares. 10
(a) What is borrowed capital ? Explain the borrowing powers. 10
(b) Distinguish between Director and Managing Director. 10
(a) What is statutory meeting ? When and how is it held ? 10
(b) What do you mean by a "proxy" ? How is he appointed ? What are his rights ? 10
(a) Explain the different types of shares. 10
(b) What are the duties and powers of the chairman of a company meeting ? 10
() Who can become a member of a company ? How can the membership be acquired? 10
(b) What are the power and duties of a Auditor of a company ? 10
(a) What are the duties and powers of a managing Director of a company. | 10
(b) Distinguish between ordinary resolution and special resolution. 10
Give the specimen of any two of the following : — 20

(a) Share Certrificate

(b) Notice of Annual General Meeting
(c) Call Reminder

(d) Dividend Warrant.

Write short notes on any four of the following : — 20

(a) Prospectus

(b) Extra Ordinary General Meeting
(c) Annual Report

(d) Underwriting of Shares

-(e) Interest

(f) Forfeiture of Shares. { TURNOVER
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N.B. 1. Attempt all questions.
2. Figures to the right indicate full marks.
3.Tie the_answerbooks of both the sections together.

- Section—1 .
1. Define Agreement. State the essentials of valid Agreement. " 14
‘ OR

1. Write short notes on any three of the followihg:
a) Consideration S b) Free Consent c)Voidable contract |

d) Quasi Contract e)Acceptance of Proposal : _ . _ i

2. What is sale? State the difference between a condition and a warranty. 12 |
OR : : |
2. Write short notes on any three of the following:
a)Caviet emptor = b) Hire purchase ¢) Termination of agency
d) Right of Pawnee e) Bailment ' :

3. What do you mean by goods? What are the rules of the delivery of goods?- ' 12 z

OR- - : R

3. Write short notes on any three of the following: : :
a) Types of goods b) Rights of disposal of goods by seller

c) Lien - d) modes of ascertainment of Price  e) Unpaid seller

4. Define Negotiable Instrument. Distinguish between a cheque and a Bill of Exchange. 12

. OR
4. Write short notes on any three of the following: : , 1
a)Hundi - b) Endorsement c)Dishonour of cheque
d) Presentment e) Discharge of Payment : .
. i
: Section—1i |
5. State the different ways of converting private company into the public company. = 15
OR :
5. Write short notes on-any three of the following:
a) Contents of Memorandum of Association b) Prospectus
c) Forfeitures of shares d) Liabilities of untrue statement in Prospectus

e) Modes of appointment of directors

6. State the main features of a partnership and distinguish it from Joint Hindu Family Business.13 .
. ‘OR )
6. Write short notes on any three of the following:
a)Registration of Partnership-firm : - ) : _ :
b)Partnership —at- will , : ' ) ' '
c)Rights of a partner - : ' |
d)Dissolution of Partnership firm ' ' '

e)Goodwill of a firm _ @ ' - [TURN OVER ‘
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7. Whati is Cooperatlve Society? Dlstlngmsh between its Bye Iaws and Model Bylaws. 12
OR : :
7. Write short notes-On any three of the following:
a) Acquisition of membership of Cooperative Society
b)Voting Rights of member
¢) Managing committee’s functions
.d) Inquiry of Society by the registrar
e)Types of disputes of Society referred to cooperatlve Court

8. State and explain the different consumer disputes redressal agencies. ' 10

S » OR :
8. Write short notes on any three of the following:
~ a)lurisdiction of State Commission
" b) Powers and functions of National Commission
¢) Unfair Trade Practices
d) Cooperative Court
e) Consumer.
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N.B.: (1) Question Nos. 1 and 6 are compulsory.
(2) Attempt any two more questions from each section.
(3) Figures to the right indicate full marks.
(4) Draw neat diagrams wherever necessary.

Section I
(a) Explain the following concepts :— 10
(i) Full employment (iii) Deflation
(il) Open economy (iv) Demand for money
(b) Distinguish between :— : 8
(i) Primary sector and Secondary sector in Indian Economy.
(i) Demand pull and Cost push inflation.
(a) Discuss the circular flow of national income in closed Economy. 8
(b) Explain the various phases of a trade cycle. 8
(a) Explain factors affecting velocity of circulation of money. 8
(b) Discuss the equilibrium of the economy with the help of IS-LM model. 8
(2) What are the effects of inflation ? 8
(b) Dlscuss the impact of globalization on employment in India. 8
Write short note on any two of the following :— 16
(a) Working of multiplier
(b) Determinantes of money supply
(c) Measures to control inflation in India
(d) Nature of unemployment in India.
Section II
(a) Explain the -following concepts :— 2 10
- (i) Small scale industries (iii) Human development
(ii) Disinvestment (iv) Inclusive growth.
(b) Distinguish between :— : 8
(i) Agriculture and Industry
(ii) Public sector enterprises and Private sector enterprises.
(a) Explain the role of agriculture in Indian Economy. 8
(b) What are the problems of small scale industries in India ? 8
[ TURN OVER
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8. (a): Discuss the policy measures to promote SSIs after 1991 in India. 8
(b) What are the adverse impacts of SEZs in India ? 8

9. (a) Explam the Millennium Development Goals 2000. 8

(b) Examine the measures to promote Human development through education in India. 8

10. Write notes on any two of the following :— 16
- (a) Impact of WTO agreements on Indian agriculture.

(b) Growth of service sector in India since 1991.

(¢) Role of knowledge in economic development.

(d) Need to promote Inclusive growth in India.
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